

$$3x - 5 = 19$$

$$a = 3$$

$$b = -5 - 19 \\ = -24$$

$$[3x - \underbrace{5 - 19}_b = 0$$

Simultaneous linear equations :-

→ Deals with 2 unknown equations:-

Form :-

$$a_1x + b_1y + c_1 = 0$$

$$a_2x + b_2y + c_2 = 0$$

where ,

a is coefficient of x

b is coefficient of y

c is constant

$$a \neq 0$$

Take a example

$$2x + 3y = 10$$

$$3x - 4y - 10 = 14$$

So $2x + 3y - 10 = 0$
 $3x - 4y - 10 - 14 = 0$

1. $a = 2$, $b = 3$, $c = -10$
2. $a = 3$, $b = -4$, $c = -24$

Methods of solution (Two Unknown)

1. Elimination method :

suppose there are two equation

$$2x + 5y = 9 \quad \text{and} \quad 3x - y = 5$$

$$\begin{array}{r} 2x + 5y = 9 \\ 3x - y = 5 \end{array}$$

Multiply 5 in eq (ii)

$$15 - 5y = 25$$

Add eq (i) and (ii)

$$\begin{array}{r} 2x + 5y = 9 \\ 15x - 5y = 25 \\ \hline 17x = 34 \quad x = \frac{34}{17} = 2 \end{array}$$

M	T	W	T	F	S	S	M	T	W	T	F	S	S	M	T	W	T	F	S	S	JUL
					1	2	3	4	5	6	7	8	9	10	11	12	13	14	15	16	2023
17	18	19	20	21	22	23	24	25	26	27	28	29	30	31							

sub value of x in eq(ii)

$$y = 3x - 5$$

$$y = 3 \times 2 - 5$$

$$y = 1$$

★ Cross multiplication method :- (Not mandatory)

Formula based method

$$a_1x + b_1y + c_1 = 0$$

$$a_2x + b_2y + c_2 = 0$$

$$\frac{x}{b_1c_2 - b_2c_1} = \frac{y}{c_1a_2 - c_2a_1} = \frac{1}{a_1b_2 - a_2b_1}$$

Quadratic equation :-

> Equations having degree 2 is called as quadratic equation.

> QE will have two roots / solutions usually denoted by A, B.

W	T	W	T	F	S	S	M	T	W	T	F	S	S	M	T	W	T	F	S	S	JUL	
17	18	19	20	21	22	23	24	25	26	27	28	29	30	31		1	2	3	4	5	6	2023

Now ÷

$$\frac{-b \pm \sqrt{b^2 - 4ac}}{2a}$$

• If $d = \sqrt{b^2 - 4ac} = -ve$ } roots imaginary
 No real roots available

• $b^2 - 4ac > 0$ [+ve] } Perfect square or Not.

Roots are real & $\alpha \neq \beta$

• If $b^2 - 4ac = 0$ } Real roots
 Then roots will be equal

bcz $\sqrt{b^2 - 4ac} = 0$

W	T	W	T	F	S	S	M	T	W	T	F	S	S	M	T	W	T	F	S	S	JUL
17	18	19	20	21	1	2	3	4	5	6	7	8	9	10	11	12	13	14	15	16	2023

JULY
AUGUST

For eg:

$$x^3 - x^2 - x - 1 = 0$$

$$x^2(x+1) - 1(x+1) = 0$$

$$(x^2 - 1)(x+1) = 0$$

$$(x-1)(x+1)(x+1) = 0$$

$$x = -1, +1, -1.$$

Roots] ∴